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1. Tax evasion and inequity with current CIT 

 

 Tax competition has been intensifying since the 
completion of the single market. 

 More mobile tax bases are the main targets of tax 
competition : CIT is a major instrument of tax 
competition. 

 Within the EU, tax competition has been fiercer 
than elsewhere: it is mostly an intra-EU 
phenomenon. 



Increasingly footloose tax bases 
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Intangible assets are an increasing share 
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All countries offer tax advantages to IP 
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Profit shifting artificially inflates GDP in 

some small countries 
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 CIT tax competition within the EU 
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Shrinking CIT in the EU 



Increasing tax pressure on consumption in 

the EU 



… and on labor in the EU 



2. MNFs can avoid taxes: Examples 

 

 Under current tax systems, MNFs pay little CIT, 
especially in those countries where they have the 
bulk of the sales and profits. 

 SMEs pay a disproportionate share of CIT 
revenues : inequitable. 

 High costs of not harmonizing : 

• Revenue losses for states. 

• High tax burden on SMEs. 

• Meaningless national accounts. 
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3. estimates of revenue losses from tax 

avoidance: scenarios 
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4. The current financing of the EU budget 

 

 Less and less adequate. 

 

 The “juste retour” reasoning is blocking all 
changes and impeding new policies. 

 

 Link with the work done for the HLGOR. 



4. Net balances as a % of GNI (2017) 
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5. A European CIT would redistribute tax 

burdens, not increase them 

 

 Better taxation of intangible assets. 

 

 Fairer distribution of tax burdens. 

 

 The US example. 

 

 Is the CCTB the right tool? 


